o
[N

o
N

< 00, > (M)

Ratio

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

1 1

- 2 3
TPlpoT (PCA t%obeamlinélf)

%1073

~F : :
D F : .
£0.15F e ! IERLREES
o C : .
< o e
v 0.1:— R s ; :
0.05F - F Sl A0 IEERLIEERS
C ¥ m .
v -
-0.05F--- {1114 % ----- B s AR
0. {{ TR RTE | RN
-0.15F Tioeeeee Freseeeeees A
o-0.2F— Lol o L
3 =
@ E-fee
05

=
o
N

1

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

-+
I e A [P N
+
-t
-+

iy
TTTT[TTTT[TT

o
)

"

[ay
o2
I8

1

3
-

..................................

"""" + Hﬁl T

100

—~

e
= 80
A n
S 60F
< o
v 40k
20F
OF
-20F
~40F
-60F
-80F R R R R R R R SRREREEE
9_100: :.‘ ||||||! 1 |||||||! Lo L
F R skl B EERREEEEEEECREERE: REED SRk | i ARELERED
x [ :

kil

2 3
TPlp?T (PCA tjbobeamliné'f)




	Contents
	Page 1


